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8w ¥ T LUEES B RPN ML A Crosstabulation

LA A () % H AL 0
100,201 [ 1001-2000 ;. | 2001-3000 | 3000-6000 [ 60010 = | _Total
EX 5 Count 31 85 64 21 316
e % within t£ ) m) 2 9.8% 36.4% 26.9% 6.6% 100.0%
9% within T BLi% 2 ff o
o 11.2% 397% | arsw | 8310\ 447% | 6%
%4 of Total 6% 132% | o |\_7a 24% | 36.4%
T7  Count 2 75 El % 553
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Chi-square Tests -0
Foymp. g
e | o | Doy 1. SEXRBRE R MR R e A
Fearson Ch-square | 160,395 T 000 At 20%, FA#ATChi squareii.
Lielhood Ratie | 173,531 s o0
Lnesrty-near | 113234 1 000 2. AL XA IIEN, AN
N of Valid Cases 569
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O 98 38 289 125
A 67 11 262 370
B 13 8 57 78
AB 18 12 30 60
&it 196 99 638 933
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> blood <-read.table("bloodtyp.txt" header=T)
> chisq.test(blood)
Pearson’s chi-square test with Yates’ continuity correction
data: blood
X-square = 15.073, df = 6, p-value = 0.020
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Riddle of Jane Austen

chisq.test(Jane) that 94 105 37 22

Word Sense  Emma Sanditonl Sanditonl

IShility
a 147 186 101 83
an 25 26 11 29

this 32 39 15 15

Pearson's Chi-squared testwith 59 74 28 43
without| 18 10 10 4

data: Jane
X-squared = 45.5775, df = 15, p-
value = 6.205e-05
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Nemariél!& (McNemar's test)
Bl: FBHOFERRLERER

& z B it
+ —_
+ 80 (a) 10 (b) 90
— 31 (c) 10 (d) 0
& it 111 20 131
Ho: B=C Hie B#C a=0.05,
T v g, R v

Y b+c240 WA AKIE, T b+c<40 WA —EFEKRIE.
Pl b+c=10+31=41>40, AMAEEEHRE, H+HF

—o_(10=3p*
10+31

=10.76, v=1

> ex=matrix(c(80,10,31,10),2,2)
> chisg.test(ex)
Pearson's Chi-squared test with Yates' continuity correction
data: ex
X-squared = 2.8817, df = 1, p-value = 0.08959
> mcnemar.test(ex)
McNemar's Chi-squared test with continuity correction

data: ex
McNemar's chi-squared = 9.7561, df = 1, p-value = 0.001787
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ori=c(20,3025442426,16,18)  nowp=c(0.1,1,4,7,83,15)
oril=ori/2 sumnow=sum(now2)
orisum=sum(ori) sum(now2*ori5)/sum(now2)
ori3=c(0,0ri) cor(now2,ori)
ori4=cumsum(ori3)[1:length(ori)]

now3=floor(ori*4)
#now3=c(0,1,1,4,7,8,3,15)
sumnow=sum(now3)
sum(now3*ori5)/sum(now3)

ori5=(oril+ori4) /orisum
ori6=ori*ori5

ori6

now1=c(4,8,3,4,1,0,0,0)
sumnow=sum(now1)
sum(now1*ori5)/sum(now1)

cor(nowl,ori)
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